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Part—1 /%P -1
Marks — 30 / 3% — 30

A:  WAATA ISTEE i v AR R | 3w v ¥ g 02 st Pafa E |

Note : There are 15 questions in this part. All questions are compulsory. Each
question carries 02 marks.

3§ FINANCE = 39, MARKETING = 52, @4 PRODUCTION = ?
If FINANCE = 39, MARKETING = 52, then PRODUCTION = ?

@1 0.01, @@ 0.1 i fRrereft wfwa 2 7
The number 0.01, is what percent of number 0.1 ?

IR 9x + 2 > 7x — 2, & x T Wpleh TG R, ¥ & H1AT=T A B, N A 71a B |

If A is the solution set of 9x + 2 > 7x — 2, where x is a natural number, then find A.

AR T T o e & P (3,2) 3R < st & e (1,1) ok (2,5) &, @t
e ¥fvd < Fdries sma Hifve

If the co-ordinates of the centroid of a triangle are (3, 2.) and co-ordinates of the
two vertices are (1, 1) and (2, 5), then find the co-ordinates of the third vertex.

mmmmgmmﬁagmmt | §6 T8 TH HEAT 1 9% 8 & U X et
? | SR A WIW @ 9% g Aeh EE w5 3 on } | S T Sem a2

Anita thinks of a number and subtracts %ﬁ'om it. She multiplies this result by 8.

The resulting number so obtained is 3 times of the original thought number. What
is the number thought by her ?

QN FEAIHAT T ANT 40 T ITH A=K 4 R | QT G@Aai %1 39 WA FIR |

Sum of two numbers is 40 and their difference is 4. Find the ratio of the two
numbers. _

@ T % 1 350 Frenfefdt w1 2 crafat & aun < wrsfet e Qe £, Rect
wrgheal frre adff Qe & 7

3
'7'of the total of 350 students of a school are girls and %of the girls play cricket.
How many girls do not play cricket ?

RGBT RET A 3w A REm R ?
Three coins are tossed. What is the probability of getting neither 3 heads nor 3 tails ?
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Wﬁﬁﬁﬂwwmﬁmmma@é4ﬁtﬂwzﬁ$ﬁ 2 9t 2 Rrad |
TETH WY FA HIET TR | N 9T hT Sb Hia HIR |

A rectangular sheet of card-board has length and breadth as 4 ecm and 2 cm

respectively. The largest possible circle is cut from this sheet. Find the area of the
remaining portion of the sheet.

A wricsls & &9 & ‘U’ <hl AT AT | [ diaT : 20 wIsg]
Explain ‘Intuition’ as source of Ethical guide.
[Answer Limit : 20 words]

‘2 fafers’ & @R = 8 7 39 g&as 6 560 favg-asg 1 8 7 [So #A 1 : 20 9155
Who is the author of ‘The Republic’ 2 What is the main subject matter of the book ?
[Answer Limit : 20 words]

1 AT SEH BT Tk &’ 30 T & ?sﬁmwnﬁ@mﬁmm% ?
[STCHMET : 20 ¥sg]

Does information sharing serve the public interest ? Why is it an 1m}-)o:.-tant feature
of democracy ? [Answer Limit : 20 words]

WETER HHRIeHS ITHA—SqGET & Ul Ievdl iy 3718 Hial & ?[IaL HIHT : 20 W]
How does corruption hamper the basic aims of positive governance ?
[Answer Limit : 20 words]

SR -8 # 3131 711 o Sier GAgHT shl i AEvIHAT @ ? [STR €T : 20 ¥s5)

Why is the need of compassion towards weaker section in civil services ?
[Answer Limit : 20 words]

fRfea-seNa AN s & ? TN S IEFR AT ?

[T HHT : 20 9155
What do you understand by ‘Whistle-blower’ ? What are the main functions of
‘Whistle-blower’ ? [Answer Limit : 20 words]

Part -2 /91T -2

Marks — 50 / 3% — 50
Me: T UET A B 10 9 & | @ft e AfEE R | v ww S e 05 3w
futfa & |

Note : There are 10 questions in this part. All questions are compulsory. Each
question carries 05 marks.

I HoA1 € AT FIT AU & ? I=al Hod| o1 91 TWEY B ? [FTT = : 50 vIsg)
What do you understand by Higher values ? What is the nature of higher values ?
[Answer Limit : 50 words]

gt (fvgha) s’ 7 sghy ieds H =me Hifm | [ T - 50 9]

What is “Attitude’ ? Explain changes in Attitude. [Answer Limit : 50 words]
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guea & e e stk s s A= 2 7 [T HiET : 50 3]
What is importance of rules and regulations for good governance ?

[Answer Limit : 50 words]
Tt <Y T it srguren g Hifre | 7= 3ng ied @ 6 idish 3 38 sae
uarifass Hfifd-steer & R 9 g, 9 99 wRa s amrsw Y areea |
T < feafa d adf ar 2 [ HiT : 50 ¥Isg)
Explain Gandhi’s concept of Satyagraha. Do you think that Gandhi adopted it only
as a political strategy since India was not in a position to fight the mighty British
Empire ? [Answer Limit : S0 words]
13 3, 6, 24 3T 48 T YOI HTEY ATq HIfAT |

Calculate geometric mean of the numbers 3, 6, 24 and 48.

s foram v A womard qen el oo & |esdl 1 g9 7:3 o1 | garyl e @l
Bigwt 18w fausft g1 # afdifra @7 Ig s 3:2 & = | 3% fym e &
U] =hl oA AT AT HIfAY |

In a legisiative assembly, the ratio of the members of the ruling party to the

members of the opposition party was 7 : 3. Eighteen members of the ruling party

left their party and joined the opposition party making this ratio to 3 : 2. Find the
total number of members in the assembly.

% 15,000 Y g0 w1 q 99 % foTu "umwr sure e Sshdfe S9TS W1 3 T 96 @
=11 <t arfdes <t s hifs |

The difference between compound interest and simple interest on an amount of
T 15,000 for 2 years is ¥ 96. Find the rate of interest per annum.

53 - 3[12 + 2[75

oy HTHH a + b\[3 % &9 # 31a HINY, &1 T a 9 b afda &g
g1
53 = 34J12 + 24/
Find the value of ‘\j_ ;*‘\ﬁ N7 in the form of a + b\/3 , where a and b are

rational numbers.

us SR 59 30 fefY, 20 feft/ge 6 st |/, v« 30 et 25 fedt/ g & =e
¥ qur anRed 30 fedft, 30 fedfi/ger & wrer @ qU wA B | FR F fEa =1
fAesrfera |

Calculate the average speed of a car running at the rate of 20 km/hour during the

first 30 kms, at 25 km/hour during the next 30 kms and at 30 km/hour during the
last 30 kms.

e Ul 6 fre ) g$ i or=rd 14 A R | 39 gE g S fme # 93 e e e
freprferg |

The length of the minute hand of a clock is 14 cms. Find the area covered by it in
5 minutes.
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Part-3/9MMM -3
Marks — 40 / 37 — 40
A: TP A o 07 v Eaur 2 Wus R | @Us-1 % 04 WAl # @ fRf 03 sl
wd @UE-2 & 3 Wi 7 A fFalf 02 weAl w1 3w R s sifedd @ | @
w1 & fore 08 e Puifa & 1

Note : There are 07 questions in this part in 02 sections. It is compulsory to
answer any three questions out of four selected from Section-1 and any
two questions out of three selected from Section -2. Each question carries
08 marks.

Section-1 / ©@UE-1
General Aptitude / W= sfvwsfa

60 farafiat & w wqe & 25 faunfi Bre, 30 foramefi Feata 3 24 faemefT &7t
Qea & safe 10 framrfi frde 3l geatar QH1, 9 femedf fFde aik & 3,
12 farfi gih 3R peaia Q=1 aur 5 fardi =t @ g« @ € | 39 3R@ H1 379
ST ge wra hiforg 7% fean faranff Fae @i d=s @ea & |

Out of a group of 60 students, 25 students play cricket, 30 students play football
and 24 students play Hockey while 10 students play cricket and football, 9 students
play cricket and hockey, 12 students play hockey and football and 5 students play
all the three games. Using Venn-diagram, find the number of students who play
only one game.

Teh SAfth 39 6 HT 12.5% @t a1 & 71 A F 60% Y =47 = a1 R | B U B
TS 3T 379 36 e W= R, 9f 39 99 g U B TR 8% 6w sy Y i o
| e o 2 96 & forg s X 3T R 1 3R 2 9 w1g ¥ 2030 e # | =R F o Iy
# e fpar g7 o1 ?

A person loses 12.5% of his money and spends 60% of the remaining money. The
part of his total money, now left with him, if he deposits this left over money in a
bank for 2 years at 8% annual simple rate of interest, he gets T 2,030 after 2 years.
What was the total initial money with the person ?

uF AT ) T I S WX FH F A TR N IR Aerd 3 e 7w § I Al
a1 AFEE 9 T HH B T 3N 3R Iqeh! wrvard 3 Hiet w1 §f I A
+ft 2 et 71 € ST A IHHT HABA 67 TN W A1 R | S HY TS 9 ST

F1d sHfT |

The area of a rectangle gets reduced by 9 sq. metre, if its length is reduced by 5
metres and breadth is increased by 3 metres and if its length is increased by 3
metres and breadth is increased by 2 metres, its area increases by 67 sq. metre.
Find the length and breadth of the rectangle.
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Frafafaa sfwst @ arferes sma Hifv
1 FHaus IOERAT

0-10 15

10— 20 18

20 - 30 20

3040 14

40 - 50 25

50 — 60 40

Find the median from the following data :
Class Interval Frequency

0-10 15
10 -20 18
20-30 20
30-40 14
40 - 50 25
50 - 60 40

Section-2 / @UE-2

Ethics / ERINA
WG GHT & ST ° 9l gaee 9GEd! % ANTEH 1 et hifeg |

[3a & : 125 9]
Point out main contributions of Maharshi Dayanand Saraswati in the upliftment of
Indian society. [Answer Limit : 125 words]
YETER o AT & IUTAT 1 Ieeid hHig | (ST T ;125 vsg)
Point out the measures to minimize corruption. [Answer Limit : 125 words]
arTies Sftem % Aferer Yot <t samean Hifg | [FaCHmT ;125 )
Explain the moral values of social life. [Answer Limit : 125 words]
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Part—4 /971 -4
Marks — 80 / 375 — 80
AT:  sEUTHFH 07 YT & aUT 2 @US B | @UE ~1 % 04 WAl H A fordi 03 weAl
ug Wug-2 & 3 ywEl ° 4 fR=dl 02 weAl &1 3w femn s aifemrd 2 | v
g1 & fore 16 37 fRuif@ &

Note : There are 07 questions in this part in 2 sections. It is compulsory to
answer any three questions out of four selected trom Section-1 and any
two questions out of three selected from Section-2. Each question carries
16 marks.

Section-1 /@S —1

General Aptitude / G PR

U oS % HHe I HHf, garhn e foed gl T 9w mend ®, St @ 1 ol
Foger <l ervars 14 iy fl. vd smg s o0 R | 39 FE 1 EGH TE g8 &Fhe T1d
T | Foger 7 A3 e verd wem w1 @ afe T s ufy 100 fHe &, @ 8@ soo
Foget s | ferdat @ A 7

A medicine capsule is in the shape of a eylinder with two hemispheres stuch to
each of its end. The length of the entirc capsule is 14 mm and the diameter is
5 mm. Find its volume and surface arca. If the cost of covering capsule with sweat

edible coating is Z 5 per 100 mm? then what will be the total cost of manufacturing
of 500 such capsules.

Th GG, T &1 Teh &1 I K 3l Torehed <l ¢ |

(i) e H T 5,500 oA T 15%, 10% T 5% i = sFHmma g2 |

(i) e & T 6,000 T T 18%, 15% o 6% Y d19 AT G | a1 Bl HIA Al
Frereq P R |

A shopkeeper gives two options to the buyer of the same coat,

(i) on coat’s price of T 5,500, three consecutive discounts of 15%, 10% and 5%.

(ii) on coat’s price of ¥ 6,000, three consecutive discounts of 18%, 15% and 6%.
Which option will be beneficial for the buyer ?

= 2 amagfi wedl % fore vee o1 aren 25.4 quT AR 1 32.5 Freeen m R | x 3k
y 1 0H W hifre |
=t + | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

el - 20 15 10 x y
sgfall : 4 8 4 2x y

For the following two frequency distributions, the mean calculated for the first was
25.4 and that of the second was 32.5. Find the values of x and y.

Class : | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Frequencyl : 20 15 10 X y
Frequency II : 4 8 4 2x y
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A,B 3R C T %1 * 3t HH: 6, 8 MM 12 A A qu e asha € 1 3fg
3 Al v wry et 39 w1 ) QU HE W HA T 23,400 FATA & af 39
urs # C w1 faean fvan gm 2

20 wferera fremget Aepiarel & it #1 50 Sl fremser Yehigiel & O
¥ frg arura # e wifee @ife ofomft oier § fyurse Yeieia 40
wferera & 9 ?

A, B and C each of them working alone can complete a job in 6, 8 and
12 days respectively. If all three of them work together to complete the
said job, they earn ¥ 23,400. Determine the share of C in their
eamnings.

In what ratio should a 20% methyl alcohol solution be mixed with a
50% methyl alcohol so that the resulting solution has 40% methyl
alcohol ?

Section-2 / @UE -2

Ethics / ATERIMTH

forfis feremoammatt & gro aftfa fafae @ & arfaert s geat i saren il |

[T =T : 250 g

Explain the essential moral vélues of civil service as described by different school
of thoughts. [Answer Limit : 250 words]
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38. el weor st araariqdes afeu qen 3w i ford T weHt 1 3w A -
wanta, gfera Hugier &9 3w gfera aiftrebrdl, woh s gHen areh e vded 2 | @
AT ST, Teh STSHT T T o1gh! 8 T & Ut 3 | 32 deprer 8 e Rifpean
Y SR R =T ITHT W TN g 8wl @ | 9 o gt e @ weger
¥ T8 qeohlet TE age Eehell | Tt WY 379 gw yifty Y astg & du Aeewer 2R ww
%tmwaymﬂ%mﬁinmmﬂ%ﬁaﬁ%mwwﬁwﬁhmm
HUTCT <l WU 950 U & | I8 YR fruhl dawte el S1RY 7 a7 3% e
HEgg gfaun 2 |
W @ 39 HHET H1 Yodieh hdl S ?

1. wfa i ot soTereht a9 S =it 5 98 fead) gemar =t 2

2. @I I IgS Th hl GETFAl HE MR |

3. T <l 9B TS ) &1 FIfRC Fifh HRAT G 8 eTeH] Bt atad & e
21

4. GHE 61 B3 WiHR FE A7 5 781 2 | [3TR i1 : 250 vIeg)

Study the following case carefully and answer the questions that follow

Swati, a police officer in control room, reaches a scene of a bad accident. Two
young persons, a boy and a girl, are badly hurt. They need immediate first aid or
their injuries will prove fatal. No other police patrol or ambulance can reach the
site immediatcly. Swati has good paramedical training because of her background.
She assesses that the condition of the girl is such that the probability of her single
handed effort succeeding is slim. To whom should she attend first ? This is an
agonizing dilemma for her.

Question : How will you evaluate the problem ?

Swati should toss a coin and decide whom to help.

Swati should help the boy first.

Swati should help the boy as a boy always has priority in Indian society.

There 1s no acceptable solution to the problem. [Answer Limit : 250 words]

B
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39.  f=feRaa wemor i araurigds ufey qun 39 9 for@ & weAl w1 3 i

1 7 Angelt ¥ HRER ¥ w1 & fhar 3 fit-ot qem oot Ht seifaafor seeh
ST HIfeTh &7 T | ST Tt o aohe1eh! Haxreh 3 gadl Athil o1 % fore ug wamT o
dl 98 9g Wrell & T | 1" g A wEard foman foh sueht gan g3 tHetet aeteht e
&1 fean Sie & s Ause 1 vEd g3 | T ey A a9t 3 w1 @t
fotiy fopan ot Twerrer i Siféres A 9t deg v | g 3 e f6 3@ g A
Sefifrafin 6 gerd fad Swgs e gfafid a 1 R | o 9o & @ 91 W
Iz ft Fa1 6 fdie Jwegs e ghafdd = AfFes § g g fgafeem 2 |
397 g8 i sarn s twere A 3gse F I 9 HrEdwmenat °§ gfeor off foran R | 3gem
fost oft fatrg fomar T o 389 I Y 6 Sae @y die 8 ® 3 g 6 afe =
R g8 AT @ 98 df F€ e 6 36 aiEr | s HRER H auEK @ | 38
Tz 3T e o 3q L yiiar & ot R THeTe 9es 94 foran e |

¥ : W e fR 3119 o1 It & St @ afag 2 3R glw % deiEsR & | 3

AT 1 T A8 o 7
1. 1 G i gerg o fo waas fgwet it 31 | 389 v 1 foadg sigie sfaw o
A2 7 Giw 1 3 Tufa 7 seerh =il |
2. 39! G Bl foh THATA o1 WY LR | YEATT AT FA1MET IR HEs: IR
I w1 TT1eY |

3. et i et waya % s1qve o, 51 3y are e W@ 2aFshe Y fages s
=ifzy St Aa1fgd & Hia Ig= &1 &l 3R I8 THeler ! HF REA & fasiy figm

& g1y foeges fopan s wifaa |
4. 39 T TEAT I1fT Ffh IRER & wme] § =i arfébesar ) 91d W e T8
ol (3 T ; 250 W=g)

Study the following case carefully and answer the questions that follow :

Suresh started a business from scratch, and ended up as substantial owner of a mid

sized engineering company. The position of technical director in the company fell

vacant when its incumbent resigned to take up another assignment. To the surprise of
the board, Suresh proposed that his young son Ramlal should be made a technical
director. One director openly expressed his opposition to the proposal and doubted

Ramlal’s credentials. Suresh replied that his son has studied engineering in Remote

Westbrook Technical University. In reply to the member’s question, he added that

Remote Westbrook Technical University is an accredited university in New Mexico.

Ramlal, he added also took training in some workshops near Detroit. When there was

further opposition, he pleaded that his health was poor and that he would like someone

from his family to take reins if he were to become too ill. Ramlal, he added, would be
elected a member on the strength of his shareholding.

Question : Assume that you have been the secretary of the company for many years

and have the ears of Suresh. What would be your advice to Suresh ?

1. You would advise Suresh that such opposition from independent Directors is
routine in corporate life. Suresh should not change his position.

2. Your advice would be that Ramlal should start at the shop floor and then
gradually take up higher responsibility.

3. Company should appoint an elderly technocrat with management experience
who is nearing retirement and he should be appointed with specific mission to
groom Ramlal.

4. You should stay away because in family matters people do not pay heed to
reason. [Answer Limit : 250 words]
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